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ORM3Bal sz M=z 275,000,000 275,000
SY s 100,000 85,000 15,000
307 21201 A 100,000 85,000 15,000
02 LAFAAFEX 100,000 85,000 15,000
OS8d M=EUz(BH s9H) 100,000, 000& 100,000
S=2E dE2H=sal KA 82,000 82,000 0
307 2201 A 82,000 82,000 0
02 It M AHE L 82,000 82,000 0
Ozs=gd4auslal M 82,000,000& 82,000
sz dEN=sHSE 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
02 It M AHEE 30,000 30,000 0
Osdz MEMSUHa M= 30,000,000& 30,000
T HsHaE 40,000 40,000 0
307 21201 A 40,000 40,000 0
02 HAFAANGFEE 40,000 40,000 0
Oxe? M=dsal i 40,000,000& 40,000
M=s0s &t 436,000 436,000 0
307 Qi2tol & 436,000 436,000 0
02 QB AAHEX 436,000 436,000 0
OHM608 E=T0MSUE =t
190,000, 000& 190,000
OAlZCHE AAOtet=CHal &I 30,000,000 30,000
SESEZMAMSUHE &It 40,000,000& 40,000
OHMXM=CHE JHEl & &I+ 15,000,000 15,000
OHM73 SHd=HMAM=UHS M=l
20,000,000& 20,000
OFH MESRAAY 10,000, 000& 10,000
Od=2a It 10,000, 000& 10,000
OSsgdedsHa &It 31,000, 000& 31,000
Os=NESHLUHa &It 5,000,000& 5,000
Os=sdaxsla &It 65,000,000& 65,000
Os=Eds2ddeEdslal &It 20,000,000 20,000
d= S3Q HUAMS 22,000 22,000 0
307 21201 A 22,000 22,000 0
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2N 2HMSH
g M= ozet &5
gelr stz 29

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 22,000 22,000 0
Osdz=tl &= S5 diLIAWtS Mzl
22,000,000& 22,000
d=203 KX 60,000 60,000 0
307 glz2tol & 60,000 60,000 0
02 It M AHE L 60,000 60,000 0
O=2Z&ecl) ¥@=2F70sa KX 60,000,000& 60,000
El=32 243t 935,710 932,451 3,259
ZotosAdze ¥ =4 935,710 932,451 3,259
=ol=z 2 222 935,710 932,451 3,259
101 @14 Hl 61,949 61,026 923
04 JIZHHZ2XRHEE S 61,949 61,026 923
O3cE & A Fa 2R 37,169
=0 69,7603 * 2F » 240 33,485
-ALSIEE JI2RE S 33,484,800& = 11% 3,684
O39, dAl - A otE 2| (D& X&)l
£ 6,195
=0 69,7603 * 4H » 20¢ 5,581
-ALEIEE DRSS 5,581,000& * 11% 614
O3 & A GREX RY 18,585
=0 69,760& * 1H * 240 16,743
-ALRIEE JI2RE 3 16,742,800& * 11% 1,842
201 Let24E| 811,709 801,545 10,164
01 At 22l 117,286 115,290 1,996
O2so=s2 28 822 M 40,640
-UEg 8#==9 M
500,000& = 1A * 143 7,000
-8 g9 A
200,000& * 1A + 123 2,400
-8 =9 MZE 50,0008 « M A« 263l 11,700
-“ZAH M 1,100& = 30008 = 143l 4,620
B M= 30,000& * 20HA = 143 840
-2 M= 300& = 2,00000 = 143l 8,400
-2 2 QR =F A
200% * 6000H * 143 1,680
D20 StE SR M
1,000& = 2,000% * 23] 4,000
Ot=321 =¥ 25,000& = 38 * 43| 300
ORU 22F FL(RHEX)
6,000,000& = 14 6,000
SUAIE HIX 243 150,000& * 42| 600
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fAM: 2=
M 2o 243
o2l 2o g2l & 24 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAES(Zd , 28H . LI S)
200,000& = 12& 2,400
oYy & AsSx2 12,000
-HEAS 780,000& = 53| 3,900
-3 ¢y 450,000& = 183 8,100
ORAMES L MRES 100,000& » 12& 1,200
OEF & HetH 22
12,0008 * 2804 » 12 4,032
O244yl +TAN 222
200,000& = 200 4 400
OLPG STAISAIE FIIZA +48
200,000& = 13l 200
OMd=x 84 =8 770,000& * 23 1,540
OAM&EE BIIBE ==& 1,300,000& 13 1,300
O&IINE BE =2 1,500,000 * 43| 6,000
S¢H Z2H =2 110,000,000& * 7.5% 8,250
OsdIl dz3&el === 484,000& = 12& 5,808
OSAMEX 25,000& * 102 A + 33 750
O&=D 2z 37,000 = 5CH » 12& 2,220
O#AHH A2F(EYH EH) ¢
300,000& * 1CH = 28] * 90% 540
OSA gtz 300,000 = 1CH = 12& 3,600
O2ge¥d g & Jd=
250,000& = 79H = 23] 3,500
OLgAlE HH2el =3 4450008 128 5,340
O =&l
8,000& » 7 * 10& » 12& * 80% 5,376
Of4d0t0I12E8 AHX 22,5008 * 300 750
O34 & BaM S8t & 01010 2
35,0002 = 20& 700
Of=3% ZLIHE 50,0003 = 28 » 123 1,200
OZHOIX |FX2el =5 220,000& * 128 2,640
02 =224l 252,423 244,255 8,168
OA&E 8= X bl 114,500
-3 |2l 2,000,000& = 33l 6,000
-SHEUW JIHE ¥ M4 FHa
2,000,000& = 23| 4,000
-2A2 | &2l8l(7,289.42m ) 17,000,000& 17,000
-SHE RUHAIE A2 (SE,29,01H)
15,000, 000& 15,000
-SUHIAHEBXANE X2l 7,000,000 7,000
-LBIIAHAIE S R2a 10,000, 000& 10,000
-RIMAIE (I L NEHN) 2Rl
3,000,000& 3,000
-HIIAE |X2el 15,000, 000& 15,000
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SN 2AHSD
M 2o 243
o2l 2o g2l & 24 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-AgAIE |X2el 6,000,000& 6,000
“dHEAIE A2 2 EHI 10,000, 000& 10,000
-H2AE SxFHl 21,500,000& 21,500
OLots ==l 150,000& = 208 63l 1,800
Ose N2 ASE
20,0003 = 500Q! * 3% = 23| 600
OF=2=g=b=) 87,000
-& 3t 150,000& » 12& 1,800
-& | 6,800,000& = 12& 81,600
-&ote & 300,000& = 12& 3,600
ORdESANEZ 11,0003 = 2CH » 123 264
OeHIAIEZ 30,000& * 23l & * 128 720
OJtAHHA MABEZ 100,000& * 13| 100
Od”3ldl 2 3,630
-& D] otM 22| &t 100,000 * 13| 100
- 2HobM 22| Rt 50,000& * 13 50
-FH=d=2 240,000& = 29H 480
-2 23tM=3 2 A3
3,000,000& = 13l 3,000
OdzHl 30,941
-4 b JbATY
1,600 = 45kg * 6AI2F » 70 30,240
-ZHl K|S 701
FALR(M=I S) 1,9508 * 30£ * 53 293
R (HaewE)|)
170,000& = 0.2A12+ » 12¢ 408
O#FHHl FXE=HI 868
-CtIIs AR 121
1,300,000 * 12CH = 5% * 70% 546
-Zgld 4,000,000 » 2CH * 2% » 70% 112
-= AtJ| 15,000,000& = 1CH * 2% * 70% 210
O2sto=32 2eAH & CCTV 2el2d
1,000,000& * 12& 12,000
03 A2 Z Hl 442,000 442,000 0
OJ&8Z3H , 8Al & Zotadg 442,000
-JEEZA 2 HA 400,000,000& 400,000
-datad 3,500,000& * 123 42,000
202 ¢4 tl 9,408 13,440 24,032
01 201l 9,408 13,440 A4,032
Otl=3la Z2elg® =Xl
13,440,000& * 70% 9,408
301 LeHBAF 13,440 13,440 0
12JIEt243 13,440 13,440 0
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SHA ==U,P

b
P01|
t

(o
M- B8 a(3) - HEAY - BAS %Ei HD=2
OXNRZEALA AlHIEAH(Z24AMH])
8,0008 » 5% * 50 2,000
OZAIS (23t0=3 & oF2tal0l)
110,000 = 42X x 26 11,440
401 AlEHIZL 201 Y| 33,404 43,000 N 9,596
01 Al&H| 33,404 43,000 N 9,596
ORUAIE HIICGHHEAAI E9H|(2HY)
13,594,000 13,594
OANES HUEAH 29H|(AIEY)
19,810,000 19,810
405 XHA&HF S HI 5,800 0 5,800
01 XA 2 FF S H| 5,800 0 5,800
OXDAMEI 2 1,600,000 = 2CH 3,200
OFNEYYLE BHEpc 7L
1,000,000& = 24 2,000
OFXNEUIEEZE =AW 7
300,000 = 274 600
HEMSHAY (2SS 33,145 34,717 N 1,572
JI2Z bl (2 S 33,145 34,717 N 1,572
Jl2&Hl 33,145 34,717 N1,572
201 gBt24d| 25,765 28,367 N2,602
01 AP 2t 2| H| 24,135 26,040 A 1,905
Ogbt4=24| 6,431,000 6,431
OF=1=1s] 5,380,000 5,380
OEAD X2 440,000€ = 10H ~ 12€ 5,280
O&FLD| X 50,000& * 10§ = 12& 600
OdEHEH A22E 2H]| 6,444
-dHEZely 3,960
EY
440,000 * 1CH ~ 4= = 23] * 90% 3,168
= 440,000& = 1CH = 23] * 90% 792
-t 2l g 200,000€ = 6CH = 23] * 90% 2,160
-FAX 120,0002 ~ 1CH ~ 33 * 90% 324
02 E2=2=2%H| 1,630 2,327 AN B97
O#MHAY SAE4H| 1,630
-CIIs A1
1,300,000& = 27CH * 5% * 70% 1,229
-T2l 4,000,000 * 7CH * 2% * 70% 392
-FAX 600,000& = 1CH * 2% * 70% 9
202 o4l 1,680 2,400 ANT720
01 2Ll 1,680 2,400 ANT20
O23H=10 228 o]
2,400,000 * 70% 1,680
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fAM: 2=
M HY2IAZH (2SS
¢ JI2dH (23 Ms) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
203 YR =&l 4,200 3,600 600
04 FN2ELRZ=TH 4,200 3,600 600
ORN2IYSF=AHI 350,000& = 12& 4,200
405 TtobFH S 1,500 350 1,150
01 AL EFFHSHI 1,500 350 1,150
OE=S UHMAS 1,500,000& = 1CH 1,500
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